Ne

(2]
m
(7]
>
=
moe

i B D BR AT

SESAME MOTOR CORP.

TEIVREH BRIFRAZE

HE TR BERER -
GERERIBEAERA - BHAMESRPE| SO 14001

1SO 9001

JERERIA

1. 1L EERTHE i

& (5 A AT AGE RERIHE > HIR ALK
~ JEEE LA B R A K S 58 2R I 3R T
EE R B - (R ERFE AR S
AR BTG R HIIEE » BRI R A 3%
FH2 T 2R IR A A RIE TR B
FAEE FTaE BRI TR - AN B A A JEE
IHE(E S T - FRULE A - WGE R -

& RO S PR [ BT Ry B ik — 4
A PREHEARR A - 25 2 n PR AN B R 5R T
A - FRGEMTE > AAFRE
SRS IRER AT -

o ERE T 8 5 ST 0 (R B
i BT -

o (RIEREERE BRI > BIRILERE
T G O (AR T 7 B
RIS 1% - lice B BERAE R -

& SEE R 7 Bl (] el b Z AR - YR
W22 B SE B A% AR 15 LIS (A T ) ZE D ] 58
LIEEG AR N b A

& BUER AT T ST - ZIAREH > 557
Llikhel# T AR B ik A g - LUl g
B -

& SR EHBCESSE TR AR BGE - SRIA ]

BE BB AR 318 °

© DRGSRy B SCERAT o T 1 [ R =
G > TR

1. 2% RIS A R
IRCHER VR MY LSS - TG T
Bl Z LB L R B 1R B AN
dt o ANECREFEEIA o

& REMZERATEEGE » RSN H A
ZsREs R L o

o S0 I P A A R M S A A
2R -

& JH[E 5 FHIRE-10~+90°C -
& ZR TN AEE85% o LI KRB o
& 5F A ENEEETE 10004 R -
& GG ES > IKEEHERE -
& SHEGEOKBOHAIE R o
& ShEpURE R R B -
® [FRR RIFBRZ AT o
2. TS MG

G BE 7 £ AT i B H )0 > A1 PR %2
jz%ﬁ)j%%i » ) 0m R A E P T (E B
il L o

NoAL

AT TR 7 B 3 1 B A S 3 LU e P i
G o (EE R VO ERE - BE AL
HAG - BRI - ERGEE AR -

3. ZH
3.1 AT HI T

* 1

R I S IR LA 7
TEHE - 06 55 Y BLRLH B 2
TS -

2

BT TR ST T
I EBTR - EEIHE
RO 4 e Y R

*3

HUT S ERIERIgE - a0
W GRS -

*4

MRS R T HLK
P R

HE R iR - BIEERE
HEHETE -8 % - (HPHER
SRIE L R 2 E

*5

LIsRE D FREZR M E
95% » [RER1ZEANERE - %
WEAR RS |

*6

1552 B JRCH AR P I R FF 2 L
fHEE - S2RPAEH )RR
ZHINE - DR

E PR IRR A PHE o

*7

LIsaEH ) R 2 )
5> RER1EAIERF > H
VIR IAE

*8

A ZETEEE ] -

2T/ AR S VLA

Page 1/4

TR/ FENREBEERP S VL4

Page 2/ 4



=

3.2 HiZ=Hiik

*1

JelERR B A
75 LERFE » ST0ERE 52 Bk
& AR -

*2

iHE R A CZEEET
HE) BEHERIR > HEIAR
IRIR R HESRTAS],

*3

AU B FIRSERIGE - 41
BE - T -

o4
HER B S 0T B
)[R

& FE Ry Pl - BHEE
JEREAE PO - ESRER
SRR Hl T 2 FE -

*5

LISREH I REFMH 1 E
5% > IRIR1ZEAIAFE - 15
WERICHE PR | o

*6

F 322 Bk S R 15 A R 5 2
Hd - 2RERMTIE
Rz HIIE » DT
WSS -

*7

DIsES N F#= o H
B (KEB1ZE4ER > Hif
TIIR TR ARSEER o

*8

I\ ZERE ] -

[ HERBARANESRE )
NAERT BE129B 42BN
IRER R~
mm N-m In-Ib
M3*0.5P 25 21 19
M4*0.7P 3 4.9 44
M5*0.8P 4 9.8 87
M6*1P 5 17 151
M8*1.25P 6 41 364
M10*1.5P 8 80 709
M12*1.75P 10 139 1232
M14*2P 12 223 1976
\ M16*2P 14 343 3038 /

5. 7% §8 R 51l A B S HEBR

*5.1

KRS EB ) DUEEEE (F e - il
FeaE B IEN o 25 H (EEE N EG EAL - FRTT
[ 1 53 BRLJBCH A, - MRS A SEER B BT A AL -
it B STy PR SE AN RS - 58 274G
PR e PR B T 175 BE AR, - DAt

N\ SEEF L R RO b b 2 S
B E -

)\ e E )

YA P

& LS ek TR LR S TEREAA G e
ElR TS RS W E R ES >
HEMEREESN o SRR -

& RN FIRE S B LA B R > SR
B EEEIE RS  SH IR -

@& (5] > EEE AT B RIS 24 - i
B AEE R A AN F S -

& W RS B AN B A
7 Sl R M A -

TR D ERAR
TEL: +886-4-2561-0011
FAX: +886-4-2562-7766
info@sesamemotor.com.tw

www.sesamemotor.com

2T/ AR S VLA

Page 3/4

TR/ FENRERE RS T VL4

Page 4/ 4



<),
2~ SESAME MOTOR CORP.

SESAME
Planetary Gearbox Operation Manual
Thank you for selecting SESAME products. ISO 9001
Please read this manual before operation. ISO 14001
1. Note 1.2 Installation environment limitation

1.1 Preparation before installation

Please read this operation manual before
using this gearbox. Any problems caused by
inappropriate operation contrary with the
manual, or damage caused by natural disas-
ters, or restructure the gearbox without our
permission, Sesame will not hold any respon-
sibility nor will the gearbox be coverd by war-
ranty.

€ Warranty is one year after purchase of the
gearbox. Within warranty period, if gearbox
damage is not caused by operation error nor
by natural disaster, then please send back
the gearbox, we should replace the damage
spare part at free of charge.

& Installation, disassemble, maintenance on
the gearbox, needed to be performed by
trained technicians.

@ According to the application and operation
environment, the gearbox temperature might
be raising after period of running. Please do
not touch the gearbox directly during opera-
tion, or right off from operation.

¢ Do not touch any rotating components when
the gearbox is running. Ensure that the plugs
of the gearbox were inserted after installa-
tion. Avoid any small object fall into the gear-
box.

& Handle the gearbox gently during installation,
do not knock the gearbox by any tool, to
avoid the influence of running accuracy.

& Do not disassemble or modify gearbox to
prevent injury or equipment damage.

¢ Synthetic lubricant is sealed in gearbox,
there is no need to change lubricant.

Gearbox must be installed under following
terms to prevent damages which are not
coverd by warranty.

® Gearbox is designed or manufactured to be
used with other mechanical equipment .

4 Avoid gearbox used in flammable gas or corro-
sion gas environment.

® Operate temperature is between -10 to + 90°C.

4 Humidity: no more than 85%, in order to avoid
condensation.

# Operate altitude may not be higher than 1000m
above sea-level

4 Avoid direct sunlight, dust accumulation.
4 Avoid continuity vibration or impact.

4 Used in good ventilated place.

2. Gearbox Introduction

As shown below, the input side is for installing
the servo motor and the output is mounted to
application equipment.

Input

To ensure the product performance, both the input
and output ends must be protected carefully to
avoid any damage or improper operation.

3. Mounting Instructions

3.1 Parallel Type
* 1

Check the motor and
gearbox size. Clean the
mounting surface.

Take off the plug from the
adapter plate. Revolve the
set collar until the bolt is
aligned with the hole.

*3 o4

Make sure the motor shaft
size. Choose the right bushing
if necessary.

Remove the key from the
motor shaft. Mounting the
balance key if necessary.

As installing on flatted shaft,
be sure to align the collet gap
over the flat and the set collar
bolt perpendicular to the flat.

*5 *6

Tighten the mounting
bolts in 1~4 order with
torque wrench to 5%
specified torque.

Install gearbox and motor
vertically. Tighten the set collar
bolt with torque wrench to
specified torque.

*7 *8

Tighten the mounting bolts
in 1~4 order with torque
wrench to specified torque.

Put the plug back .

SESAME MOTOR CORRP. / Planetary Gearbox Operation Manual V1.4

Page 1/4

SESAME MOTOR CORRP. / Planetary Gearbox Operation Manual V1.4

Page 2/ 4



3.2 Hollow Spindle Type

*1

Check the motor and
gearbox size. Clean the
mounting surface.

*2

Take off the plug from the
adapter plate. Revolve the
set collar until the bolt is
aligned with the hole.

*3

Remove the key from the
motor shaft. Mounting the
balance key if necessary.

*4

Make sure the motor shaft
size. Choose the right bushing
if necessary.

As installing on flatted shaft,

be sure to align the collet gap ‘|'.'::-

over the flat and the set collar
bolt perpendicular to the flat.

*5

Tighten the mounting bolt in
1~4 order with torque wrench
to 5% specified torque.

*6

Install gearbox and motor
vertically.Tighten the set collar
bolt with torque werench to
specified torque.

=3

( Tightening Torque
Bolt Size Width Across Flats TigSt:tr::i%S 'I1'§r-2ue
mm N-m In-Ib
M3*0.5P 25 2.1 19
M4*0.7P 3 4.9 44
M5*0.8P 4 9.8 87
M6*1P 5 17 151
M8*1.25P 6 41 364
M10*1.5P 8 80 709
M12*1.75P 10 139 1232
M14*2P 12 223 1976
\ M16*2P 14 343 3038 )

5. Test Run & Trouble Shooting Guides

*5.1

Power on the motor. Slowly drive the
motor and adjust its mounting status
until the gearbox is driven smoothly.

¢5.2

If smooth operation is not available
after mounting adjustment, re-install
motor and gearbox again as per
mounting instructions. If the problem
could not be solved via the procedures
above, please DO NOT take apart of
the gearbox, contact SESAME for
technical support right away.

A Ensure the plug

was installed before
starting motor.

ADO not touch any
rotating component
when the gearbox

o7/ 8 . .
IS running.
& Attention
@ Incorrect installation will damage gears and results SESAME MOTOR CORP
in abnormal noise , short lifespan or accident. :
Please be alert.
- A _
¢ Specification compatibility check is required before TEL: +886-4-2561-0011
applying both products to other machinery or FAX: +886-4-2562-7766
Tighten the mounting bolts Put the plug back. equipment. _
in 1~4 order with torque & Sesame Motor Corp. is not responsible for any cause info@sesamemotor.com.tw
o there might occur if user's neglects of specification
wrench to specified torque. compatibility checking. WWW.sesamemotor.com
Page 3/ 4 SESAME MOTOR CORRP. / Planetary Gearbox Operation Manual V1.4 Page 4/ 4

SESAME MOTOR CORRP. / Planetary Gearbox Operation Manual V1.4



